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CHACPTAR = 5

MULTIPLICATION



Tick (4) the correct option :

1.  3 + 3 + 3 is equal to 

69 3 × 3 Both         

2. 2 + 2 + 2 + 2 + 2 is equal to

5 × 2 6 × 2 22



3. 4 + 4 + 4 + 4 is equal to 

1 4 × 4 44



Fill in the boxes :

2  +  2  +  2  +  2  +  2  =  1 0

5 2x = 10

3  +  3  +  3  +  3  =  1 2

x =

5  +  5  +  5  =  1 5

2  +  2  +  2  +  2  +  2  =  1 0

x

x

=

=







Write the multiplication fact : 

1.  3 + 3 + 3 + 3 + 3 + 3 = 18

6 3 18x =

2. 4 + 4 + 4 + 4 + 4 + 4 + 4 = 28



3 .   5  +  5  +  5  +  5  +  5  +  5  +  5  +  5  =  4 0

x =

4 .    8  +  8  +  8  +  8  +  8  +  8  +  8  +  8  +  8  =  7 2

x =



5 .   9 + 9 + 9 + 9 + 9 + 9 + 9 + 9 + 9 + 9 = 90

x =



Fill in the boxes :

1. 4 groups of 6 apples make        groups of 3 apples. 

2. 8 groups of 5 balloons make 10 groups of         balloons. 

3 groups of       chocolates make 9 groups of 3 chocolates. 

4.         groups of 2 mangoes make 5 groups of 4 mangoes.



Fill in the boxes with the help of multiplication tables : 

2 × 9 =   

5 × 9 =   

4 × 4 =   

8 × 6 =   

10 × 5 = 

6 × 4 =

8 × 5 =

2 × 5 =

8 × 3 = 

9 × 2 = 



Join the threads with correct balloons :



(1) 2 × 6 =
12 18 26

(2) 6 × 8 =
40 48 56

(3) 7 × 7 =
70 49 63

(4) 9 × 3 =
27 39 93 



Fill in the boxes :

20  × 0   = 

13  × = 0

× 10  = 0

15  × = 0 

× 8   = 0 

10  × 0   = 

6    × 0   =

× 7   = 0



Write Yes or No :

1.  112 × 1  =  112

2.  230 × 0  =   0

3.  312 × 2  =  312

4.  423 × 2  =  846 

5.  989 × 1  =  988 

6.  142 × 0  =  142



Multiply :

H T O

3 2 1

x 3

9    6    3

H T O

3 2 2

X 2



H T O

2 1 3

X 3

H T O

2 1 3

X 2



H T O

2 1 4

X 2

H T O

3 2 4

X 2



H T O

2 0 2

X 2

H T O

2 1 2

X 2



H T O

1 2 4

X 2

H T O

4 2 3

X 2



H T O

3 4 1

X 2

H T O

3 1 2

X 2



H T O

3 1 2

X 3

H T O

1 1 0

X 7



H T O

1 0 1

X 9

H T O

1 1 0

X 6



Fill in the boxes : 

1.  3 times 8 = times 4 

2.  4 times 3 = 2 times

3.  6 times  = 8 times 

4.          times 4 = 8 times 5.



Fill in the boxes :
1. 258 × 42 = 42 ×

2. 78 × 112 = × 78

3. 42 x 0 =                 x 42 

4.  556 x               = 335 x 556    

258



Find the product :

T O

3 9

x 3
1  1  7

T O

4 6

x 8



T O

5 6

x 7

T O

1 9

x 8



T O

8 2

x 5

T O

8 2

x 4



T O

4 5

x 5

T O

8 9

x 4



Multiply :

1 0 6 
× 6  

2 2 3
x 3

2 2 3 
x 3



1 2 5 
× 4

1 5 0
× 4

1 0 8
× 3



Problems on multiplication : 
1. There are 28 pencils in a bundle. How many pencils are 

there in 3 bundles ?

SOLUTION :
2 8    pencils
× 3 
8 4     pencils

2
2 8
X    3
8    4



2.   75 people can travel in a bus. How many people can  
travel in 4 buses ?

SOLUTION : people

people

X



3. There are 6 baskets of apples. If each basket   
contains 72 apples, how many apples are there in all ?
SOLUTION : apples

apples



4. How many days are there in 32 weeks, if each week 
contains 7 days ? SOLUTION : weeks × days 

SOLUTION : weeks

days



Solve to fill in the boxes :
1. There are 101 toys in a packet. How many toys are 

there in 9 such packets ?
SOLUTION : toys

toys



2. If there are 42 boys in a row, find the number of boys in  
7 such rows.

SOLUTION : Boys 

Boys



3. A car has 4 wheels. How many wheels do 52 cars have ?

SOLUTION : Cars 

Wheels



4. 136 balls are kept in one box. How many balls are there
in 8 boxes ?

SOLUTION : balls 

balls




	Slide Number 1
	Slide Number 2
	Slide Number 3
	Slide Number 4
	Slide Number 5
	Slide Number 6
	Slide Number 7
	Slide Number 8
	Slide Number 9
	Slide Number 10
	Slide Number 11
	Slide Number 12
	Slide Number 13
	Slide Number 14
	Slide Number 15
	Slide Number 16
	Slide Number 17
	Slide Number 18
	Slide Number 19
	Slide Number 20
	Slide Number 21
	Slide Number 22
	Slide Number 23
	Slide Number 24
	Slide Number 25
	Slide Number 26
	Slide Number 27
	Slide Number 28
	Slide Number 29
	Slide Number 30
	Slide Number 31
	Slide Number 32
	Slide Number 33
	Slide Number 34
	Slide Number 35
	Slide Number 36
	Slide Number 37
	Slide Number 38
	Slide Number 39
	Slide Number 40

